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EFRATAI 1s AR A TIF EAX AT THAE PRR NI RE:

$ 1s

cpython devguide prog.py pypy rm-unused-function.patch

$ 1ls pypy

ctypes_configure demo dotviewer include 1lib_pypy lib-python ...
$ 1s -1

total 20

drwxr-xr-x 19 wena wena 4096 Feb 18 18:51 cpython

drwxr-xr-x 4 wena wena 4096 Feb 8 12:04 devguide

—-rwxr-xr-x 1 wena wena 535 Feb 19 00:05 prog.py

drwxr-xr—-x 14 wena wena 4096 Feb 7 00:59 pypy

-rw-r—--r—-— 1 wena wena 741 Feb 18 01:01 rm-unused-function.patch
$ 1s —-help

Usage: 1ls [OPTION]... [FILE]...

List information about the FILEs (the current directory by default).
Sort entries alphabetically if none of -cftuvSUX nor --sort is specified.
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import argparse
parser = argparse.ArgumentParser ()
parser.parse_args ()

PAF R I T4 R

$ python prog.py
$ python prog.py —-help
usage: prog.py [—h]

options:
-h, —--help show this help message and exit
$ python prog.py —-verbose
usage: prog.py [—h]
prog.py: error: unrecognized arguments: —--verbose
$ python prog.py foo
usage: prog.py [—h]
prog.py: error: unrecognized arguments: foo
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import argparse

parser = argparse.ArgumentParser ()
parser.add_argument ("echo™)

args = parser.parse_args ()

print (args.echo)

IBAT IR

$ python prog.py

usage: prog.py [—h] echo

prog.py: error: the following arguments are required: echo
$ python prog.py —--help

usage: prog.py [—-h] echo

positional arguments:
echo

options:

-h, —--help show this help message and exit
$ python prog.py foo
foo

FEFFIBAT oL T :
o TAPEIM T add_argument () J5IK, BITIAM TR E RS FAF RERE 2P LE iy AT, FEIX AT
AR E A echo AR K R B RS — B
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("echo", help="echo the string you use here")
args = parser.parse_args()

print (args.echo)

REHATFE:

$ python prog.py -h
usage: prog.py [—-h] echo




positional arguments:

echo echo the string you use here
options:
-h, —--help show this help message and exit
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", help="display a square of a given number")
args = parser.parse_args ()

print (args.square**2)

AT 2 izt T4

$ python prog.py 4
Traceback (most recent call last):
File "prog.py", line 5, in <module>
print (args.square**2)
TypeError: unsupported operand type(s) for ** or pow(): 'str' and 'int'

HERAKIF] . ABEH N argparse SEIRATMEEL LS T WETANE A, BRIERNERE

BreA, BTN F argparse RALX—H AN EBEL:
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", help="display a square of a given number",
type=int)

args = parser.parse_args ()

print (args.square**2)

PATF RZAUHE Iz F T4 R

$ python prog.py 4

16

$ python prog.py four

usage: prog.py [—h] square

prog.py: error: argument square: invalid int wvalue: 'four'
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("--verbosity", help="increase output verbosity")
args = parser.parse_args ()
if args.verbosity:
print ("verbosity turned on")

Al i -




$ python prog.py —--verbosity 1
verbosity turned on

$ python prog.py

$ python prog.py —-help

usage: prog.py [-h] [--verbosity VERBOSITY]
options:
-h, —--help show this help message and exit

—-verbosity VERBOSITY
increase output verbosity
$ python prog.py —-verbosity

usage: prog.py [-h] [--verbosity VERBOSITY]
prog.py: error: argument —--verbosity: expected one argument
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("--verbose", help="increase output verbosity",
action="store true™)
args = parser.parse_args ()
if args.verbose:
print ("verbosity turned on")

Al i -

$ python prog.py —-verbose

verbosity turned on

$ python prog.py —-verbose 1

usage: prog.py [—-h] [-—-verbose]

prog.py: error: unrecognized arguments: 1
$ python prog.py —--help

usage: prog.py [—h] [-—-verbose]

options:
-h, —--help show this help message and exit
—--verbose increase output verbosity
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WERARAE A SATRINIE , RS K BABGE B 2K TR AR o X AR B

import argparse
parser = argparse.ArgumentParser ()

parser.add_argument ("-v", "--verbose", help="increase output verbosity",

action="store true™)
args = parser.parse_args ()
if args.verbose:
print ("verbosity turned on")

ORI

$ python prog.py -v
verbosity turned on
$ python prog.py —-help
usage: prog.py [-h] [-V]

options:
-h, —--help show this help message and exit
-v, ——-verbose increase output verbosity
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbose", action="store_true",
help="increase output verbosity")
args = parser.parse_args ()
answer = args.square**2
if args.verbose:
print (f"the square of {args.square} equals {answer}")
else:
print (answer)

EH 2

$ python prog.py

usage: prog.py [—-h] [-v] square

prog.py: error: the following arguments are required: square
$ python prog.py 4

16

$ python prog.py 4 —--verbose

the square of 4 equals 16

$ python prog.py —-verbose 4

the square of 4 equals 16

o AP T —CESE, SPREA TR
o RN IR B
IR EEZZ TR BN, A5k :




import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", type=int,
help="display a square of a given number")

parser.add_argument ("-v", "--verbosity", type=int,
help="increase output verbosity")

args = parser.parse_args ()

answer = args.square**2

if args.verbosity == 2:

print (f"the square of {args.square} equals {answer}!")
elif args.verbosity == 1:

print (f" {args.square}"2 == {answer /")
else:

print (answer)

% -

$ python prog.py 4

16

$ python prog.py 4 -v

usage: prog.py [—h] [-v VERBOSITY] square
prog.py: error: argument -v/--verbosity: expected one argument
$ python prog.py 4 -v 1

472 == 16

$ python prog.py 4 -v 2

the square of 4 equals 16

$ python prog.py 4 -v 3

16

J

BT RE—A, BLEEBWAE. &5 DRE T RNWRETFPA — bug. FAT DA R H
-—verbosity JEIIA] AEZ MR BE E:

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", type=int, choices=[0, 1, 2],
help="increase output verbosity")
args = parser.parse_args ()
answer = args.square**2
if args.verbosity ==
print (f"the square of {args.square} equals {answer}!")
elif args.verbosity == 1:
print (f"{args.square "2 == {answer ")
else:
print (answer)

Ak -

$ python prog.py 4 -v 3

usage: prog.py [-h] [-v {0,1,2}] square

prog.py: error: argument -v/--verbosity: invalid choice: 3 (choose from 0, 1, 2)
$ python prog.py 4 -h

usage: prog.py [-h] [-v {0,1,2}] square

positional arguments:

square display a square of a given number
options:
=ln, ==elp show this help message and exit

-v {0,1,2}, --verbosity {0,1,2}
increase output verbosity
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ERITRES R )T —2 (2% python --help ffiil):

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,

help="display the square of a given number")

add_argument (" action="count",
help="increase output verbosity")

args parser.parse_args ()

answer args.square**2

if args.verbosity

parser. -v", "--verbosity",

print (f"the square of {args.square} equals {answer}!")
elif args.verbosity == 1:
print (f" {args.square}"2 == {answer /")

else:
print (answer)

FATFIAT F—FhshfE count”, SRGETIAHRE LI H B KL

$ python prog.py 4
16

$ python prog.

472 == 16

$ python prog.

the square of

$ python prog.

the square of

py 4 -v

py 4 -vv

4 equals 16

py 4 —-verbosity —--verbosity
4 equals 16

$ python prog.py 4 -v 1

usage: prog.py [—-h] [-v] square

prog.py: error: unrecognized arguments: 1
$ python prog.py 4 -h

usage: prog.py [~-h] [-v] square

positional arguments:

square display a square of a given number
options:
-h, —--help show this help message and exit
-v, —-verbosity increase output verbosity
$ python prog.py 4 -vvv
16

2, EIAEH— A ERR— R (Fl action="store_true" Mfh). X
ESiG:E
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None,

import argparse
parser argparse.ArgumentParser ()

()
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parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", action="count",
help="increase output verbosity")
args = parser.parse_args()
answer = args.square**2

# bugfix: replace == with >=
if args.verbosity >= 2:
print (f"the square of {args.square} equals {answer}")
elif args.verbosity >= 1:
print (f" {args.square}"2 == {answer /")
else:

print (answer)

R EATATH

$ python prog.py 4 -vvv
the square of 4 equals 16

$ python prog.
the square of
$ python prog.

py 4 -vvvv
4 equals 16

py 4

Traceback (most recent call last):
File "prog.py", line 11, in <module>
if args.verbosity >= 2:
TypeError: '>=' not supported between instances of 'NoneType' and 'int'

o Sl RE, B T2 bug. WETRUL, AR BT >=2 IERTREER.
o SO =k AR

1EFRANTBE A bug:
import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", action="count", default=0,

help="increase output verbosity")

args = parser.parse_args()
answer = args.square**2
if args.verbosity >= 2:

print (f"the square of {args.square} equals {answer}")
elif args.verbosity >= 1:

print (f"{args.square "2 == {answer ")
else:

print (answer)

J

TATMINIGIA T L—AH 0 K default, FAMEERE A 0 RiLE R A S HAVEE A B AL . i0
fE, BRI IR — S A g, BN 2 None, Jf HEARRAFEEEM LR (FrAr™
BT TypeError B#).

YRR

$ python prog.py 4
16

SFEREBATH BT E 2 AR VIR AT MBI VR 22 0, A e U T — 2 BINE . argparse fibig
FEREAR), SRR AR ERRES N,
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")
parser.add_argument ("-v", "--verbosity", action="count", default=0)
args = parser.parse_args ()
answer = args.x**args.y
if args.verbosity >= 2:

print (f"{args.x} to the power {args.y} equals {answer}")
elif args.verbosity >= 1:

print (f" {args.x}"{args.y} == {answer /")
else:

print (answer)

i -

$ python prog.py

usage: prog.py [-h] [-V] x ¥y

prog.py: error: the following arguments are required: x, y
$ python prog.py -h

usage: prog.py [-h] [-V] x ¥y

positional arguments:

X the base
y the exponent
options:
-h, —--help show this help message and exit
-v, ——-verbosity
$ python prog.py 4 2 -v
472 == 16

TR E] H B AT EAE R ANk £ I R SCA . DU R B E F A ok R &
% 0y 3R

import argparse

parser = argparse.ArgumentParser ()
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")

parser.add_argument ("-v", "--verbosity", action="count", default=0)
args = parser.parse_args ()
answer = args.x**args.y
if args.verbosity >= 2:
print (f"Running '{__file_ }'")
if args.verbosity >= 1:
print (f" {args.x}"{args.y} == ", end="")

print (answer)

i

$ python prog.py 4 2

16
$ python prog.py 4 2 -v
472 == 16

$ python prog.py 4 2 -vv
Running 'prog.py'
472 == 16

10
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BIERHE — N BSHOR L ESHERMNBET 75— D SEATAEESUN, ATRAME - K iJf parse_args ()
TEEZ WSRO ES R

>>> parser = argparse.ArgumentParser (prog='PROG")
>>> parser.add_argument ('-n', nargs='+")
>>> parser.add_argument ('args', nargs='*")

>>> # ambiguous, SO parse_args assumes 1it's an option

>>> parser.parse_args(['-f'])

usage: PROG [-h] [-n N [N ...]] [args ...]
PROG: error: unrecognized arguments: —-f
>>> parser.parse_args(['——', '-f'])
Namespace (args=["'-f'], n=None)

>>> # ambiguous, so the —-n option greedily accepts arguments

>>> parser.parse_args(['-n', '1', '2', '3'])
Namespace (args=[], n=["'1"', '2', '3'])

>>> parser.parse_args(['-n', '1', '——', '2', '3'])
Namespace (args=["'2"', '3'], n=["1"'])

6.2 X ERYIEIR

IR R IE, JAT—EAEMH argparse. ArgumentParser SCHIRYPIATiik. AEFRA TN 2R =45
¥k add_mutually_exclusive_group (). ‘ESRVIRMNFEE BB MIHPEI . LERATHHE SR TF Y
HARTFR MECTH I REEA TS BATRTIA ——quiet I, Ef5 —-verbose WIFEMMI:

import argparse

parser = argparse.ArgumentParser ()

group = parser.add_mutually_exclusive_group ()
group.add_argument ("-v", "--verbose", action="store_true")
group.add_argument ("-qg", "--quiet", action="store_true")
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")
args = parser.parse_args()

answer = args.x**args.y

if args.quiet:

print (answer)
elif args.verbose:

print (f"{args.x} to the power {args.y} equals {answer}")
else:

print (f"{args.x/}"{args.y} == {answer /")

AT FIAEZAF R T, AT THUR TR EMEEL T —Lehfe. To i, e X e

$ python prog.py 4 2

472 == 16
$ python prog.py 4 2 -g
16

$ python prog.py 4 2 -v

4 to the power 2 equals 16

$ python prog.py 4 2 -vq

usage: prog.py [-h] [-v | -gq] x vy

prog.py: error: argument -qg/--quiet: not allowed with argument -v/--verbose
$ python prog.py 4 2 -v —-quiet

11
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usage: prog.py [-h] [-v | -q] x vy
prog.py: error: argument -g/--quiet: not allowed with argument -v/--verbose

X BAZARA 5 PRI . FAS N T AR R A AR AR T A BT A B B RE 4, RINR A 68 R i Fh
AT

TERATRZ AT, AR B IRIRE N PR MR EZ bR, DA AT A G A

import argparse

parser = argparse.ArgumentParser (description="calculate X to the power of Y")
group = parser.add_mutually_exclusive_group ()

group.add_argument ("-v", "--verbose", action="store_true")
group.add_argument ("-g", "--quiet", action="store_true")
parser.add_argument ("x", type=int, help="the base")

parser.add_argument ("y", type=int, help="the exponent")

args = parser.parse_args ()

answer = args.x**args.y

if args.quiet:

print (answer)
elif args.verbose:

print (f"{args.x} to the power {args.y} equals {answer}")
else:

print (f" {args.x}"{args.y} == {answer /")

HERE AT AR ER. EE (-v | —q], EREERUEENT AR —v 5 -q, (HARER
I (P

$ python prog.py —-help
usage: prog.py [-h] [-v | -q] x vy

calculate X to the power of Y

positional arguments:

X the base
y the exponent
options:
-h, --help show this help message and exit
-v, ——-verbose
-g, ——quiet

7 wnfaEliF argparse R9%atH

argparse BB H BIANE AIHT B SCAMGE DA SR AT get text BIHRSCBIRIRE. X i v 1
FEFFREAA AL argparse B ERHE . 7152 I i18n-howto.

B, {4~ argparse fiit

$ python prog.py —--help
usage: prog.py [-h] [-v | -q] x vy

calculate X to the power of Y
positional arguments:

X the base
y the exponent

12
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options:
-h, —--help show this help message and exit
-v, ——-verbose
-gq, ——quiet

YAFE usage:,positional arguments:,options: il show this help message and exit

H I AT .
R LEFRTR, WA ENFEIRE] 4 oo SUPFd. B, (1 Babel, 2fTX A A4

[$ pybabel extract -o messages.po /usr/lib/python3.12/argparse.py }

Ban 4 argparse BEHUREUITA AIEIRER) 77, IFRHHH 2% 8 messages . po HSCfFH. K
iy BUE 174 Python 247 E /usr/1ib,

YRE] DASE I DA R A 4% argparse BHYE R G H 7 &

import argparse }

print (argparse._file )

—H po U SCAME BRI I A gettext R TIE, argparse KRER/REIFEHIMFE.
HRIFTE argparse it PEYFAFER, 6T gettext,

8 i

BT X HEERNE, argparse BIBUARIL THEZIRE. ERYSORMY TR SE R, AE KRB
SERX N BAEL G, IR RE 2 A VR A 7 15232 SR

13


https://babel.pocoo.org/

	概念
	基础
	位置参数介绍
	可选参数介绍
	短选项

	结合位置参数和可选参数
	进行一些小小的改进
	指定有歧义的参数
	矛盾的选项

	如何翻译 argparse 的输出
	后记

